Math 214 Spring 2006 SHOW ALL YOUR WORK

1. Consider the following system of equations where a is an unknown parameter,

Quiz Two

ar+3y = =3
dr + 6y = 6.

(a) 4 points. Can you find a value of a for which the linear system has one solution? If so, give the
value of a and solve the system. EXPLAIN YOUR ANSWER.
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(b) 4 points. Can you find a value of a for which the linear system has no solution? If so, give the
value of a. EXPLAIN YOUR ANSWER.
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(c) 2 points. Can you find a value of a for which the linear system has more than one solution? If
so, give the value of a. EXPLAIN YOUR ANSWER.
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